Jaromír Šimša A linear inequality of Gronwall's type containing multiple integral

Archivum Mathematicum, Vol. 17 (1981), No. 1, 53--57

Persistent URL: http://dml.cz/dmlcz/107090

Terms of use:

© Masaryk University, 1981

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ARCH. MATH. 1, SCRIPTA FAC. SCI. NAT. UJEP BRUNENSIS XVII: 53-58, 1981

A LINEAR INEQUALITY OF GRONWALL'S TYPE CONTAINING MULTIPLE INTEGRAL

JAROMÍR ŠIMŠA, Brno

(Received June 6, 1980)

Let $C(J, R^+)$ be the class of continuous functions $J \to R^+$, where $R^+ = [0, \infty)$ and $J = [a, b), -\infty < a < b \le \infty$. For $u_1, \ldots, u_m \in C(J, R^+)$ let us define

(1)
$$K[u_1, \ldots, u_m](\alpha, \beta) = \int_{\alpha}^{\beta} u_1(t_1) \int_{\alpha}^{t_1} u_2(t_2) \ldots \int_{\alpha}^{t_{m-1}} u_m(t_m) dt_m \ldots dt_1,$$
$$a \leq \alpha \leq \beta < b.$$

If the functions u_1, \ldots, u_m are fixed, then $K(\alpha, \beta)$ is nonnegative and continuously differentiable for every $a \leq \alpha \leq \beta < b$, and

(2)
$$\frac{-\partial K}{\partial \alpha} [u_1, \ldots, u_m] (\alpha, \beta) = u_m(\alpha) K [u_1, \ldots, u_{m-1}] (\alpha, \beta),$$

(3)
$$\frac{\partial K}{\partial \beta} [u_1, \ldots, u_m] (\alpha, \beta) = u_1(\beta) K [u_2, \ldots, u_m] (\alpha, \beta).$$

(For m = 1 the right side of (2), (3) equals $u_1(\alpha)$, $u_1(\beta)$, respectively.)

In this paper we shall obtain some upper bounds of functions $x \in C(J, R^+)$ satisfying on J the inequality

(4)
$$x(t) \leq f(t) + g(t) K[p_1, \dots, p_{n-1}, p_n x](a, t),$$

where $f, g, p_1, ..., p_n$ are fixed elements of $C(J, R^+)$. More general inequality containing multiple integral

(5)
$$x(t) \leq f(t) + g(t) \int_{a}^{t} \int_{a}^{t_{1}} \dots \int_{a}^{t_{n-1}} p(t, t_{1}, \dots, t_{n}) x(t_{n}) dt_{n} \dots dt_{1}$$

has been investigated by M. Ráb in [1]. Applying the general result proved in [1] to the special inequality (4), we receive the following

Lemma 1. Let
$$x, f, g, p_1, \dots, p_n \in C(J, \mathbb{R}^+)$$
 and let (4) be valid for $t \in J$. Then

(6)
$$x(t) \leq f(t) + g(t) \int_{a}^{t} \frac{\partial K}{\partial \beta} [p_{1}, ..., p_{n-1}, p_{n}f] (a, s) \times \exp \int_{s}^{t} \frac{\partial K}{\partial \beta} [p_{1}, ..., p_{n-1}, p_{n}g] (a, r) dr ds, \quad t \in J.$$

53

If f and g are nondecreasing on J, then (6) implies that

(7)
$$x(t) \leq f(t) \exp \{g(t) K[p_1, ..., p_n](a, t)\}, \quad t \in J.$$

This result has been proved in [1] by the method of comparison of the integral inequality (5) with certain linear scalar differential inequality of the first order. In our paper we realize analogous comparison with a system of m linear scalar differential inequalities, $1 \leq m \leq n$; we get some upper bounds, similar to (6). It is interesting that the functional argument of K in the obtained bounds permits some of cyclical permutations.

Theorem. Let $x, f, g, p_1, \ldots, p_n \in C(J, R^+)$ and let (4) be valid on J. Put $f_n = f_n$, $g_n = g$ and

$$f_m(t) = K[p_{m+1}, \dots, p_{n-1}, p_n f](a, t),$$

$$g_m(t) = K[p_{m+1}, \dots, p_{n-1}, p_n g](a, t), \qquad t \in J, m = 1, \dots, n-1$$

Then

(8)
$$x(t) \leq f(t) + g(t) \int_{a}^{t} \frac{-\partial K}{\partial \alpha} [p_{1}, \dots, p_{m-1}, p_{m}f_{m}](s, t) \times \exp K[q_{1}, \dots, q_{m}](s, t) ds, \quad t \in J,$$

where q_1, \ldots, q_m is an arbitrary cyclical permutation of the system $p_1, \ldots, p_{m-1}, p_m g_m$, for all m = 1, 2, ..., n.

The proof of Theorem is based on the following

Lemma 2. Let the real function c be continuous on J and let $p_1, \ldots, p_m \in C(J, \mathbb{R}^+)$ Denote

$$c^+ = \frac{1}{2}(c + |c|).$$

If the system of functions u_1, \ldots, u_m is the solution of the initial value problem

$$u'_{k} = p_{k}(t) u_{k+1}, \qquad k = 1, 2, ..., m - 1,$$

$$u'_{m} = p_{m}(t) u_{1} + c(t),$$

$$u_{1}(a) = ... = u_{m}(a) = 0,$$

then

$$u_1(t) \leq \int_a^t \frac{-\partial K}{\alpha} [p_1, \dots, p_{m-1}, c^+](s, t) \times \exp K[q_1, \dots, q_m](s, t) ds, \quad t \in J,$$

where q_1, \ldots, q_m is an arbitrary cyclical permutation of the system p_1, \ldots, p_m . Proof of Lemma 2. Using the method of variation of constants, we receive

(9)
$$u_k(t) = \int_a^t c(s) v_k(t, s) ds, \quad t \in J, k = 1, ..., m,$$

54

where the functions $v_k(t) = v_k(t, s), k = 1, ..., m$, satisfy the system of equations

(10)
$$v'_{k} = p_{k}(t) v_{k+1}, \quad k = 1, 2, ..., m-1,$$

 $v'_{m} = p_{m}(t) v_{1},$

and

(11)
$$v_k(s) = 0, \quad k = 1, 2, ..., m - 1,$$

 $v_m(s) = 1,$

for all fixed $s \in J$.

It is easily seen that the functions $v_k(t)$ are nonnegative on [s, b]. Then the equations (9) imply that

(12)
$$u_k(t) \leq \int_a^t c^+(s) v_k(t, s) \, \mathrm{d}s, \quad t \in J, \, k = 1, \, 2, \, \dots, \, m.$$

Integrating the equations (10) from s to t, we receive (with respect to (3) and (11))

(13)
$$v_k(t) = K[p_k, ..., p_{m-1}](s, t) + K[q_1, ..., q_{m-1}, q_m v_k](s, t), \quad t \in [s, b),$$

where q_1, \ldots, q_m is the cyclical permutation of the system p_1, \ldots, p_m such that $q_1 = p_k; k = 1, 2, \ldots, m$.

Now we apply Lemma 1 to the integral equations (13); since the functions $K[p_k, ..., p_{m-1}](s, t)$ are nondecreasing in t on [s, b), we can write (see (7))

$$v_k(s, t) \leq K[p_k, ..., p_{m-1}](s, t) \exp K[q_1, ..., q_m](s, t), \quad t \in [s, b), \ k = 1, 2, ..., m.$$

Consequently, in view of the equations

$$v_1(s,t) = K[p_1, \dots, p_{k-2}, p_{k-1}v_k(s, .)](s,t), \quad t \in [s, b), k = 2, \dots, m$$

(see (10) and (11)) we have

(14)
$$v_1(s,t) \leq K[p_1, \dots, p_{k-2}, p_{k-1}K[p_k, \dots, p_{m-1}](s,.) \times \exp K[q_1, \dots, q_m](s,.)](s,t), \quad t \in [s,b]$$

for all k = 1, 2, ..., m.

Since the function $\exp K[q_1, ..., q_m](s, t_1)$ is nondecreasing in $t_1 \in [s, t)$, the inequality (14) can be simplified to the following one

(15)
$$v_1(s,t) \leq K[p_1,...,p_{m-1}](s,t) \exp K[q_1,...,q_m](s,t), \quad t \in [s,b].$$

From (12) (with k = 1) and (15) we obtain

(16)
$$u_{1}(t) \leq \int_{a}^{t} c^{+}(s) K[p_{1}, ..., p_{m-1}](s, t) \times \exp K[q_{1}, ..., q_{m}](s, t) ds.$$

By (2) the right side of (16) equals

$$\int_{a}^{t} \frac{-\partial K}{\partial \alpha} [p_1, \ldots, p_{m-1}, c^+](s, t) \exp K[q_1, \ldots, q_m](s, t) ds.$$

The proof of Lemma 2 is complete.

Proof of Theorem. The functions

$$u_{k}(t) = K[p_{k}, \ldots, p_{n-1}, p_{n}x](a, t), \qquad t \in J, \, k = 1, 2, \ldots, n,$$

satisfy the following system of equations

(17)
$$u'_{k} = p_{k}(t) u_{k+1}, \quad k = 1, 2, ..., n-1, u'_{n} = p_{n}(t) g(t) u_{1} + p_{n}(t) h(t),$$

where

(18)
$$h(t) = x(t) - g(t) u_1(t), \quad t \in J.$$

The inequality (4) can be written in the form

(19)
$$x(t) \leq f(t) + g(t) u_1(t), \quad t \in J$$

From (18) and (19) it follows that

(20)
$$h(t) \leq f(t), \quad t \in J.$$

Now, let *m* be a fixed integer, $1 \le m \le n$. Using (17) and (20) we receive, with respect to $u_{m+1}(a) = \dots = u_n(a) = 0$,

(21)
$$u'_{m}(t) \leq p_{m}(t) K[p_{m+1}, \dots, p_{n-1}, p_{n}gu_{1}](a, t) + p_{m}(t) K[p_{m+1}, \dots, p_{n-1}, p_{n}f](a, t), \quad t \in J.$$

Since u_1 is nondecreasing on J, it holds

(22)
$$K[p_{m+1}, ..., p_{n-1}, p_n g u_1](a, t) \leq \\ \leq u_1(t) K[p_{m+1}, ..., p_{n-1}, p_n g](a, t), \quad t \in J.$$

The inequalities (21) and (22) imply that

(23)
$$u'_{m}(t) \leq p_{m}(t) g_{m}(t) u_{1}(t) + p_{m}(t) f_{m}(t), \quad t \in J.$$

(The functions f_m and g_m are defined in Theorem.)

Let us consider the system of m scalar equations

$$u'_{k} = p_{k}(t) u_{k+1}, \qquad k = 1, 2, ..., m-1,$$

$$u'_{m} = p_{m}(t) g_{m}(t) u_{1} + c(t),$$

where

 $c(t) \leq p_m(t) f_m(t), \quad t \in J$

(see (17) and (23)).

56

Taking in account that $u_1(t) = \dots = u_m(t) = 0$, we can apply Lemma 2:

(24)
$$u_1(t) \leq \int_a^t \frac{-\partial K}{\partial \alpha} [p_1, \dots, p_{m-1}, p_m f_m](s, t) \times \exp K[q_1, \dots, q_m](s, t) \, \mathrm{d}s, \quad t \in J,$$

where q_1, \ldots, q_m is an arbitrary cyclical permutation of $p_1, \ldots, p_{m-1}, p_m g_m$. Using (19) and (24) we obtain the desired inequality (8).

REFERENCE

[1] Ráb, M.: Linear integral inequalities, Arch. Math. (Brno), XV (1979), 37-46.

J. Šimša 662 95 Brno, Janáčkovo nám. 2a Czechoslovakia

.

.